







Evaluate Project Using Real Options & NPV Analysis











                                      Invest $100 Mil:       annual benefits = $15 Mil, start at T=2


                                       Full ERP Now


 


                                   First year benefits = $1 Mil                       


                                                    


                                    Good result (prob = .5)               


	


                               


 Invest $10 Mil in pilot


  & wait for more info


                                     


 T=0 


                                     Bad result (prob = .5)





                                     First year benefits = $.5 Mil year 








                                                                   


                                       Don't invest any more:  annual benefits = $.5 Mil                                                     





                                         T=1                                                     T=2, 3, 4,…..                        












